107042645 § 4

Azdp §

EX = e | Hix (74 %) pERE | BRFX/FALEFE R % i
0T pg 196656 1 10, 000 AR | W 28220 ~ /A 7 8640~ | m At
PO | Chow : amer - 25 £318900) ¥ /51555678 % 2000 =
L [AUV-9612 10,000 R | W AR2T000 R/ A 3 4800~ | mAs
WY gm0 2 15 £120000) Low /i 5395 1807 = 2000 =
L [AvQ6789 930, 000 THY | WA 2R E5T300~) F A | EAD
WOTRFL0 e B - 2 £ 439500) Lo e 13274833~ 2000 =
2 s AWQ_IIIQ%{» la 190, 000 /':-L’}%_ iy .\ = gkl _ %ﬁw{:i%’ﬂf
0T BT | o+ w5 £ 199700 1| 011230 5 /B4 6180 % | OF ST
L |AvA9298% 10, 000 1§~ | WEmTI20~/ 585400~/ | &y
WIRES e s 0 =0 25 £1798c0) L] 5440 < 2000 ~
107% 516 |2 S (EF% - v) 1 - 1,500 3600 ~
078 5 16 Ez;{ﬁ()é‘éx'ﬂﬁ Bl ah |, 2, 000 3100~
A%z 7 hM , U
07 1 15 :;;/EFTX%OJ%LF 27 (5 %R L e 2,000 9600
07% $17 |2 684 (L6 ) 1 - 1,500 2800 ~
T ; pA 1 P
7 1e |PADF F T aCE R A ) (iPad 1 . 2, 350 3000
mini 2)
07T%H16 |R#aE 5208 2 | =
1075 %16 |43 4t 1| e
D ﬁ Z L
7 g1g [IPADF I L E(F Fr g (iPad 1 . 2,000 2000
mini 2)
1075 %16 |IPAD= 4 % *&(iPad mini 3) 1 - 1,500 1800 ~
107% % 16 |ACERZ := 7] % " (W99PC) 1 ; 2, 400 5500~
1075 % 16 |ASUSE bz d = 0 |
107% # 16 |IPAD= J % "% (iPad mini 2) 1 ; 2, 000 3600 ~




107042645 § 4

Azdp §

&9 5=t 5P any | BEEE | @RER/EERFE T
1074 %16 [IPAD= 4 ¢ *»(iPad mini 2) 1 E 2,000 3900 =
107% % 16 |IPHONE= # (SE) 1 % 3,000 152000~
1074 % 16 |IPHONE= # (SE) | %

1074 % 16 |IPHONE= # (SE) | 4
1074 % 16 |IPAD= 4= % #%(iPad mini 2) 1 : 3,000 7000~
1074 % 16 |IPHONE= # (SE) | 4
107% % 16 |IPHONE= 5 (SE) 1 4 1,000 4000 =
107% %16 |IPAD 4 % *&(iPad mini 2) 1 : 3,500 8000 =
1074 % 16 |IPHONE= 5 (6S » & ICLOUD %75 ) 1 4
1075 %16 |& ststais 2 ®
107T% %16 e LWIFIA 3 B(E5) 2 :
107% %16 [ASUSE& A 3 = 2 : 3,700 156000~
1074 % 16 |IPHONE= # (SE) | %
107% % 16 |IPHONE= # (SE) 1 4
1074 % 16 |IPHONE= # (SE) | %
107% %16 |2 %% | Ft
1074 % 16 |IPHONE= # (SE) 1 4 1, 050 4600 =
107% %16 |83 44 1 i




